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cos(—0) —sin(—é’)) _ (cosé’ sin &

sin(—@) cos(—0) —smf@ cosd
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R (0) = () cosé’ —s1n6’
sinf cos@
yERE D
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NumPy : BYEETE - TG E 172U

5™ . ERFTEMINENRL K HETZLHDICy r—
v NumPy | gansEstgRoEisERsEESATUVS

%”Q’KT—BEWU ndarray Python® Y X hIZAIE R
SERDEY). BEREEAUCETRINERSRL EXROHEHEIATREMoTC

# 01-01. ndarray

, e Import numpy as np
1mport numpy as np NumPyZ{FER 9 DFRIEnp E VN DBEFR T 2/ il—
N9 3 ER—REY.

a = np.array([1,2,31)

b = np.array([6, 3.3, 1])

C = np.array([[1, 5, 6],
(7, 8, 9],
[4l 2; 3]]) numpy

D = np.array([[2.3, 4, 7.2], e array('JRX ) : l_)zl\(:f—j‘a;%;jqﬁ;@agug
[7, 9, 11, {fFRd SR ERILE LB TRINIEGR S
[11, 2, 911) (BDERDZEIE KXW ERRGEINGHE (7

TJ*¥vAbL)TINd).




NumPy : BYEETE - TG E 172U

%X 7oicdl ndarray Python® U Z kA ZE
SERDEY], BEXRIFIRUCETRIFNIEES KW, EEDRER|LZ TEHA - T

# 01-02. ndarrayDEHE ' # (BZH0D) B
. print(a. dtype)

# BECHIDRAN ' print(D.dtype)

print(a.shape) E

nrint(C.shape)  # BT X

e = a.astype(float)
# JRIT . F = D.astype(int)
orint(b.ndim)  print(e)
print(D.ndim) . print(F)

numpy

e fic%l.shape EHIDIIN (BT, 1B, FS, J&RE) ZacskUey T
o g%l .ndim EZFID)RIT

o fic5ll.dtype ECHIDE! (BEXRICEDEIZHFDOH)

o fidsll.astype ECHIDNFT v X . HEDBIATIRTEB.




NumPy : 8UEETH - TTAETEZ 172 )
BEAMZEE (1)

# 01-03. EARLER

# BERITTDINE - FE

orint("a + b: ", a + b) ER  RY MLPAT
orint("b - a: ",b - a) | |
Or‘in't("C ¥ D: \nu’ C + D) ﬁ]w;ﬁﬁt‘iﬂjw
srint("C - F: \n",C - F) 53 RIFLE.

# BIRDRITOINE - BE
print("a + C: \n", a + C)

RITNERDIGRIF—EBEKRE
&/kjtlt_lzl*)t.l_ [Bl— g?b\

print("D - b: \n", D - b) BRI ND.
H %%F— ° B%% a+|_C_|lI +
orint("axb: ", a * b) Zﬁ@ﬁ?ﬁﬁ%-g,
print("C/a: \n", C / a) BR_CEDER a+C[1],
a+C[2]1])
ERDAI A=
CDHTEO DEDWIL—ILZHD IEWSERAKXRF2 AV N EESE,

https://docs.scipy.org/doc/numpy/reference/utuncs.html#broadcasting



https://docs.scipy.org/doc/numpy/reference/ufuncs.html#broadcasting

NumPy : 8{EETE - 1TIETE 172U
BEXRNGEE (2) NumPyoREus:

ANICEIIDERC EIERENS.

# 01-04. EAMSERICLDEE FIUEEET (BRDERZ) WLV ¢ EICEFIZEEE.
COULIEMIBZEANRY MIULEULT: (vectrized) STEEIFERS
# 155 EBB B,

orint("a*x%x2: ",
orint("np.exp(2): ", np.exp(2))
orint("np.exp(a): ", np.exp(a))

# X
print("np.log(2): ", np.log(2))

#h

axx2: [1 4 9]

np.exp(2): 7.38905609893065

n.exp(a): [ 2.71828183 7.3890561 20.08553692]
n.1og(2): 0.6931471805599453

n.1log(C):

[0. 1.60943791 1.79175947]

1.94591015 2.07944154 2.19722458]

(1.38629436 0.69314718 1.09861229]]

n.sgrt(2): 1.4142135623730951

n.sqrt(h): [2.44948974 1.81659021 1.
n.sin(np.pi/2): 1.0

n.sin(D):

[ 8.74570521 -0.7568025 0.79366786]

| 0.6569866  0.41211849 0.84147098]
(-0.99999021 0.90929743 0.41211849]]
np.cos(e): [ 0.54030231 -0.41614684 -0.9899925 ]

print("np.log(C): \n", np.log(C))

LHR
print("np.sqrt(2): ", np.sqrt(2))
print("np.sqrt(b): ", np.sqrt(b))

# =ARE

orint("np.sin(np.pi/2): ", np.sin(np.pi/2))
orint("np.sin(D): \n", np.sin(D))
orint("np.cos(e): ", np.cos(e))
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° —_— = B Z RT NILPR1THHh 2 WE T VILEHIRUTETR
/\7 |\}l/ ° 175“51-% (.I ) ARSI EETEZ ~

#
a+b:
a-b:
3*a:
.b, np.dot(a,b): 15.6

o, np.cross(a,b): [-7.9 17. -8.7]
D

[ 3.3 9. 13.2]

14. 17. 10. ]

15. 4. 12. 1]

C-D:

[-1.3 1. -1.2]

9. -1. 8. ]

-7. 0. -6. 1]

2%C:

[ 2 10 12]

14 16 18]

8 4 6]]

C.a, np.dot(C,a): [29 50 17]

C.D, np.dot(C,D):

[103.3 61. 66.2]

171.1 118. 139.4]

 56.2 40. 57.81]

D.C, np.dot(D,C):

[ 59.1 57.9 71.4]

74, 109. 126. ]

61, 89. 111. 1]

# 01-05. RO NI - 1T3EtHE

# NI RIVOEREER
orint("a+b: ", a + b)
orint("a-b: ", a - b)
orint("3*xa: ",3 * a)

# RO MIUVDORTE - NE
print("a.b, np.dot(a,b): ", np.dot(a,b))
print("axb, np.cross(a,b): ", np.cross(a,b))

# IT9DEKREE

orint("C+D: \n", C + D)
orint("C-D: \n", C - D)
orint("2*C: \n", 2 % C)

# 1THIDTRE

orint("C.a, np.dot(C,a): "™, np.dot(C,a))
orint("C.D, np.dot(C,D): \n", np.dot(C,D))
orint("D.C, np.dot(D,C): \n", np.dot(D,C))
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AN KNI THIEHE (2) sEREEToBENRELREFESNTNS

# 01-06. HRAZANENE]ITEIEX

# BEmE{Td

print("CAT, C.transpose(): ", C.transpose())
print("CAT, np.transpose(C): ", np.transpose(C))

# 1T5I=

print("|D|, np.linalg.det(D): ", np.linalg.det(D))

# 1751

print("F~-1, np.linalg.inv(F): ", np.linalg.inv(F))

# EBE - BBEXT U

print("np.linalg.eig(C): ", np.linalg.eig(C))

print("EBEDH, np.linalg.eigvals(C): ", np.linalg.eigvals(C))

#h
CAT, C.transpose(): [[1 7 4]
[5 8 2]
[6 9 3]]
CAT, np.transpose(C): [[1 7 4]
[5 8 2]
[6 9 3]]
ID|, np.linalg.det(D): -638.3000000000005
FA-1, np.linalg.inv(F) [[-0.12248062 ©.03410853 0.09147287]
[ 0.08062016 0.09147287 -0.07286822]
[ 0.13178295 -0.0620155 0.01550388]]
np.linalg.eig(F) (array([14.72735221, -3.28537742, ©.55802521]), array([[ ©.43801562, 0.85468529, -0.00703173],
[ 0.84944136, -0.12913467, -0.76794748],
[ 0.29426465, -0.50282928, 0.6404742111))
SB{EDH, np.linalg.eigvals(F) [14.72735221 -3.28537742 ©.55802521]
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Z DD ZDMICHEIBEROFEZENICE B S LD DEBNLHAR

SN TW5, numpy

e zeros(shape) : FEikH'shapeDIT AR THOEZNTCODEF ZERKT D

e identity(n) : n x nDEMITHZERKT D

e linspace(start, stop, num) : startHhSstopE THOREICnumED
EZE DB ZEERKT D (stopzFD) .

# 01-07. FOMMODEFIREEEK

# ECHIDER,

Z = np.zeros([3,4])

I = np.identity(3)

r = np.linspace(1l, 2, 10)
orint("Z: \n", Z)
orint("I: \n", I)
orint("r: ", r)

r: [1. 1.1111311311 1.22222222 1.33333333 1.44444444 1.55555556
1.66666667 1.77777778 1.88888889 2. ]

np.max(a) 3 [1 2 3]

a.max() 3 [1 2 3]

np.min(C) 1 [[1 5 6]

(7 8 9]
4 2 3]]
C.min() 1 [[1 5 6]
(7 8 9]
4 2 3]]
np.sum(b): 10.3 [6. 3.3 1. ]

b.sum(): 10.3 [6. 3.3 1. ]

np.mean(b): 3.4333333333333336

b.mean(): 3.4333333333333336 [6. 3.3 1. ]

# SN - #eatT

orint("np.max(a)", np.max(a), a)
orint("a.max()", a.max(), a)
orint("np.min(C)", np.min(C), C)
orint("C.min()"™, C.min(), C)
orint("np.sum(b): ", np.sum(b), b)
orint("b.sum(): ", b.sum(), b)
orint("np.mean(b): ", np.mean(b))
orint("b.mean(): ", b.mean(), b)
orint("np.median(b): ", np.median(b))
orint("np.std(D): ", np.std(D))

np.median(b): 3.3
np.std(D): 3.3973846149975753




FHE Zz#x A5 . docstring

B EZEADdocstringDiEN

« Shift+Tab

Jupyter Notebook ETHdocstringz

ORI EDTES.

1 i W 5 np.cosl

def BB (/\oA—4):

as | 1 At e e
Call signature:

np.cos(*args, **kwargs)

il
lype: ufunc
S o String form: <ufunc 'cos'>
Q E ( d O C S -t P l n g ) ~/ .local/share/virtualenvs/code-5WzJ11sL/1ib/python3.7/site-packages/numpy/__init
il
\ s
.+ PRI
QLFE1 ek
Q}-LI——Z In [2]: ?np.cos
0o e Call signature: np.cos(*args, **kwargs)
Type: ufunc
'l i n String form: <ufunc 'cos'>
- File: ~/.local/share/virtualenvs/code-5WzJ11sL/1ib/python3.7/site-packages/numpy/__init__.py
Docstring:
r‘ e -t U r\ n cos(x, /, out=None, *, where=True, casting='same_kind', order='K"', dtype=None, subok=True[, signature, extobj])
C element
Parame ters
X rray_like
Input array d .
t : ndarray, None, or tuple of ndarray and None, optional
A location into which the result is stored. If provided, it must have

» docstring : B#U& EDERBAX.

NumPy X% 1)L Google R 5 1 JLHY:

SERISICEETIAD.

53

http://www.sphinx-doc.org/ja/stable/ext/napoleon.html
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# 02-01. LT A

import numpy as np

def logSpiral(a, r@, theta):
1nn ||ﬂ§&$%)‘jﬁ

X ZRhE D EETRIE %22 R 9 BAEX

Args:
D XIRURIE DL AR
P@ FIEXDOFIERE

theta: [OJERE

Returns:

X, Y: XIEERne L DEEE

rexnp.exp(a*theta)
rxnp.cos(theta)
rxnp.sin(theta)

return (x,Vy)




TS5 BADO 7Oy ~

# 02-02. XWEEERODTOY b xpaltl
import matplotlib.pyplot as plt

# )05 XA—FIDBE N

rg =1 e
a = 0.2
INGA—=H%ZZZT70YMULTHED !
theta = np.linspace(0, 8*np.pi,1000) oEzAo~8nE ¢SO ~
|

# I77|@£1“503:JFM (T>FFEEULE) logSpiral BIEFIE
X, Y = logSpiral(a, r@, theta) U7=StE. x, yICIFENENEREE 5

L7z numpy@ﬂ@ﬂ?’fﬁl‘*ﬂ%
# O K
olt.figure(dpi = 200)
nlt.axes().set_aspect('equal') XER & VEHD R T — IV Z[EIUICT D
olt.plot(x,y)

e numpy.linspace(start, stop, num): startHhSstopE CEFERICEKYDnunBINDERZED
Be5Z{ED (num-192E]9 5 )
e matplotlib.pyplot
e axes() figurelRiElCaxes (FEIZEEH, HRAIEFHBEEDERZIZINT DAY ) Z=EMNT 5.
e axes.Axes
e set_aspect() axesD7ANRYT LEE (Hit/18) Z5xEJd S. BEy (’avto’ ), AU
('equal’), HDAVIIEFHNREZIEETES.
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0, p CIN\DX—=IRRSNIE

TRDENIR (

cosf) —sind

r(0,p|W, T, D) = Wz | sinf  cosf

oK \

0 0

0
0
1

12U, W>1TeR -1<D<1 &£95%.

COS @

0
sin ¢

B

1) CEROREREZILT D

_|_

RIS E
2%( L 1+cosgb>cos«9
1-D

W < 12_DD -1+ cos ¢> sin @

W (2T(1fD | 1) +sin¢>

chicED>E7Av b9 53




RaupETILDE
# 02-03. RaupDETI

def raup_model(W, T, D, theta, phi):

""NRaupDETIV
RaupDETIVICEDETREFREDEERR (X, Vv, z2) Z51R7 I 3.
Args:

W: BRI

T: EiiZER (RO )
D: ZEEHH S DETHIEEEE (FEOKRKET)
theta: EXERICHFD[CIERE

- 4

phi: OISR D/ZElERE

Returns:
X, Y, 2@ BEREIDXERR, YEER, zBERROD
TNENDOERE (DEEY )

1 0 O
IR RX(]T) ~ (O _1 O )
w = Wxx(theta/(2*np.pi)) o0 -l
x =w * (24D/(1 - D) + 1 + np.cos(phi))*np.cos(theta) 70w bRICRYILT
v = -w* (2xD/(1 - D) + 1 + np.cos(phi))*np.sin(theta) 57’- HICxEHNE LY T180°
z = -w* (2xTx(D/(1 - D) + 1) + np.sin(phi)) oS HTL\D

return (x, y, z)
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# 02-04. RaupDEZF/)LO7OYW

Rc70Ov ol TOy ANy —T (plotly)

import plotly.graph_objs as go Mgraph_objsZEgo& L\SBEFTA Vk—
v Y ==t I5 N\ = | /= A+ = > §'l‘\
# RaUpEFIVICES < BREFEEDE & DE b(%ﬂDTIL\ALaVAECIﬂF:LXJI\ B
W = 10%%0 2 Plotly https://plotly.com/python/
T - 1 numpy
D = 0.2 e meshgrid(arrayld_1, arrayld_2)

. . — Rycticdlarrayld_ 1&:ar‘r‘ay1d 21ZHELY,
theta_range = np.linspace(0,8%np.pi, 800 ) FNODLTRFED (FEEZED) BRI
phi_range= np.linspace(@, 2*np.pi, 60) A REEKRT B.
theta, phi = np.meshgrid(theta_range, phi_range) —

X, y, z = raup_model(W, T, D, theta, phi XL 7ay \0)7_:2730_),,,?
Y P- ( phi) SAED 3 RS EE S
#2770 b
fig = go.Fiqgure(
go.Surface(x=x, y=y, z=z, showscale=False) AN UERITERON D FRE Z/ERK
> |
fig.update_Tlayout( : s
scene = 4§ pANRY, Mﬁ(:\%ﬁﬂid)
"aSpeC'tmOde": "data" X’?'—JDETETJZ%EN) 2
F)

fig.show()



https://plotly.com/python/

# meshgrid

import matplotlib.pyplot as plt

import numpy as np

a = np.linspace(0,1,3)
b = np.linspace(2,3,6)

mesh = np.meshgrid(a,b)
X, ¥ = np.meshgrid(a,b)

print(mesh)

plt.axes().set_aspect("equal")

plt.scatter(x,y)

)
)
.«

al o1l o1 Ul e

COO~NDIDN

-~ - - - - - - - -~ -~ -~ cn

COO~NINDN

- - - - b | - - -y -y -y -

L ] L ] L ] L ] L ] L ] L ] L ] L ] L ] L [ ]

NN DPNDPNDNDNDNNOOOOOOOSO M
NN PNDPNDDNDMNDNNOOOOOOO O
NN NDDNDNNNEFRERPERPERERE

meshgrid D &

301 @ @
281 @ ]
261 @ o
241 © ¢

221 e (1,0) o

& e (0,1)

e | (0,2)

=

e plt.scatter(X, Y ) : ficsl
X& V& EEREIE & U T 87

n (>2) EDEIDSE5BFROERKICEHFIRAIEE

2.0 -
0.'0 O.' 2 0.'4 O.‘ 6 0.'8 1 '0
//)’ X

EIEfE & LT (x[0,0], y[0,0)ZH D=

(WU )

X7z fm <




Surfacelc KB 70v MEDEEE

plotly.graph_objects
e Surface(x=x_arr, y=y_arr, z=z_arr)
X, Y, ZICZVRITTEHIZE I C&ET, TDA TV IRICWITD/INTA NIy OmEmZ_70OY 9D

(x[i, 31, yli, 31, z[1i, J1)

~/ T " .

] SEIZRAUPETFILDoE Sl lHE T BiE DAV F Y Y R
I UTINGANY O EZ70v NULUTWS,
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1. RaupTEFILDINS A= ZZEIET, HRABDeE =BT (4D1RE)
#ZR 2. 1. TRWED B ZEBDEEBNBETILEULKD. TDERRBHIES
DPICFIBEDEBICEFEITDDEE’E, BECEFEELBRWVWDLEESH
IBNd. TRAAPIREICIFZFS ULIE“DIEBE"OEENFEIT DDD, &
FEULRBRLVDHLHZRBERE DEZRAOMEBNSZER L, RRBZMARK.
#iR 3. IREDEB(CIFRaUpETILICK >THEIFRWDLEE"HNEFEETD. £5U
o, BEEZFEUEL, O RaupTEFTILTIIEIFTRLNDOHIMZERE K.
4. B, BR, BEFZLEOZ.

SH % GitHub Classroomic TR I3 &



AHDERE /\—

/—XILiRRE2, 3D 55, /—VNITREIRLED>IcAICED D,

2. (/—=VID) 1. THWED B ZE5BDOERENRBRETILELELD. T5&
RRIEDMCBEDPICFIREDEBICFAEITDDeE’E, IRECEFE LR
“DMieB”hMBND. TIHOIBIRECIETZDS ULIE“DTEBE"OEBEIFET DDH,

L FFELULRRVDOHLAZRBER EDAZ2ROMBEBNSZR L, ERZMANK.

3. IREDEBICIERAUpETIVICEK >THEIFRWDTEE"IFET D, F5UE, &
BZFELEL, liRaupEFILTIEEIFTELWDHIZERET L.

H
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M El i
=8[0] . I ZE R DT=IC
6H 1 6H

B

. 5|RDAE
. WX DIEULA




